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Time : Three hours

10.

11.

12.

PARTA—(10x2= 20 marks)
: Answer any TEN questions.
What is meant by managem_eﬂt accounting? -
Cuerameio samésdufiied '&reisrug,l s_r@reur;? ‘

Define — balance sheet.

_ Bolufons Gl - aempug. - -

What is trend analysis?
CursEL UGLUITLIG GTETLIG! WITE?

What do you mean by current ratio?

-BL iy e8gid up Bl Hellit idleug wing?

What are the uses of working capital?

| BaLapaD W5 FpHd eflssSer LwieTaer wiTana? _

What are 1';hé advantages of ratio analysis?
alfls g@u\urru'.laﬁ]éfr ‘Lf,citreu;ma;'dT Wieneu?
What is furid?
B8 arénig) erenen?
What is budget?
ayay Qsway AL Ib cTeiiig) ereman?

What is meant by Profit Volume Ratio?
U 3jearey eflfsid GrdTQg,j érsirrm? .
Wﬁaf do you mean by Margiﬁ of Safety?
urgisriy ugd upd Bl siMeug GTGBT'G;T? :
What is Break-Even Analysis? )

&flg uGULMDe eTaTDITe) eTeme?

What do you underétaind by Zero Base Bud_geting?
R iy iU u@orer AL g updl Selit sifeug ererar?

Maximum ; 75 marks
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13.

14.

15.

16.

PART B — (5 x 5 = 25 marks)
Answer any FIVE questions.

What are the characteristics of Management Accounting?

Gueremrento seaursdludlwieden @)uied &6 wimeneu?

Explain the special features of common size statements.

Quitg sieTey i sersuden HpLidwudysamer afleufl.

Ram & Company supplies. you the following 1nformat1on
regarding the year ended 31st December.

L4
Cash sales < ' 80,000
Credif sales 2,00,000
Return inward 10,000
Opening stock 25,000
Closing stock 30,000

Gross profit ratio is 25%.
Calculate Inventory Turnover.

grd  flmuend, <H@TH PYe| GIFDUIT 31 - 6@ QamifyenLw
Ep&aETaID sseudsmaer. AsTHSSIeTaTg!

4
Qrrés efpuenen 80,000

sLan eflHLIene 2,00,000

2 & Sl 10,000
S TLDLI @Y(THLILY 25,000
soLS QU . 30,000
Qurgg erL) ellflsd 25%

Fr&HmUY SHAdw STeas.

From the following information, calculate cash from operation.
1.1.2014 31.12.2014

L4 L4
- Profit & Loss a/c balance 50,000  3,10,000
Debtors 90,000 84,000
Creditors 40,000 52,000
Bills receivable 24,000 30,000
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24.

25T SseuDSET:

(=) Ggiworend, QuiSmd By IT. 10,000 LD[DQILD sl 1b Bg
. 8,000.

(<) PseS® ellpuemen Qaligs T. 3,000

(@) maaf 2014 - & QoL ssre ukstgrub Qardsss . 15,000

(FF)  <pehmged Qagusdu aufl T. 30,000.

You are given the following data for the year 2014 for a factory.
Output — 40,000 units

Fixed expenses — ¥ 2,00,000

Variable cost per unit — T10

Selling price per unit — ¥ 20.

How many units must be produced and sold in the year 2015, if
it is anticipated that selling price would be reduced by 10%,
variable cost would be ¥ 12 per-unit and fixed cost will increase
by 10%? The factory would like to make a profit in 2015 egual to
that of the profit in- 2014.

e Asmperemeufer-2014 - b cg,m@ase;rrar ge;eua)a;m QU(HLDT:
agpug,gﬂ 40,000 e@ser

ﬁma)u_lrrear Qeaveysar - T 2,00,000

IYLEL Qewesdr @i SiwE@sEE - . 10

alpuenen aflene @if HGES - . 20.

pueer oflewa 10% GaP&SILMHL,  WTYUBLD QeeveyseT @i
SVGES <. 12 arenayid wH@b Hareowrer Qewey 10% SifsMssu@n

araneyid erflfumié@d Ll gl 2015 - & ereueuata) SiOGEET 2 HUSH
Qauig) eflpaiini CeuaiT(BILD.

2014 - & mlqw erugdipe swwrs 2015 - @b FlL Gg,rnzé],r_r)&rrma)
eNmbySpg. :
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Spsanan b elurrseial®bg, @mUY Hlarad G gwmt Cels.

(=) BeLapep ppesard - <. 75,000

(1) 85n'Ll'Jl_| whmib 2 uflsar - . 1,00,000
(@) eurd Gue euanyiiumhm --X. 60,000
() Ly efdlsb - 1.75
(2) Fiw e9dsn - 1.15
(1) Heveowiren QsmsgisaeT 2 Mevwwrert HEE - 0.75

(o) DL &TE HLcnEET - Gdene .

23. From the -following balance sheets,

statement.

Liabilities

Share capital

Balance Sheet

2013 2014 Assets

3 3
1,80,000 2,00,000 Goodwill

Reserve fund 28,000 36,000 Buildings
Profit and Loss a/c 39,000 24,000 Machinery
Creditors 16,000 10,800 Investments
Bank overdraft 12,400 2,600 Inventories
Provision for taxation 32,000 34,000 Debtors
Provision for doubtful debts 3,800 4,200 Cash

) i 3,11,200 3,11,600

Additional Information :

prepare funds flow

2013 2014
L4 L4
24,000 20,000
80,000 172,000
74,000 172,000
20,000 22,000
60,000 50,800
40,000 44,400
13,200 _ 30,400

3,11,200 3,11,600

(a) Depreciation charged on machinery ¥10,000 and on
building ¥ 8,000.

() Investments sold during the year I 3,000. .

(¢ 15,000 interim dividend paid during January 2014.

(d) Taxes paid during the year ¥30,000.

Spsargmd QuuuBons eAldS@mbs. B @ SifEmsmu

st Qs

Qumrgiliyser

LIk (PS60

& K

U Bl &/ G

L BCHTT

cué GLoed euanFuUHmI
aflsarear @g&S0H
DWS SL_BSSTET

251550

By feows GHluy
2013 2014 Qanggiémen

3 3
1,80,000 2,00,000 rp)Q@uwit

28,000 36,000 &' iq1 riser
39,000 24,000 @uipHirid
16,000 10,800 apgaSH
12,400 2,600 gysHmriy
32,000 34,000 & emmaflsar
3,800 4,200 Qumésid

3,11,200 3,11,600

6

2013 2014

T T
24,000 20,000

80,000 72,000
74,000 72,000
20,000 22,000
60,000 50,800
40,000 44,400
13,200 30,400

3,11,200 3,11,600
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Prepaid expenses

Bills payable
Outstanding expenses.
Outstanding income

Income received in advance

1.1.2014
2
3,200

30,000
2,400
1,600

500

31.12.2014
T
2,800
32,000
3,200
1,800
600

Spsranid ssaucsaHHS, Qewdum 4 A@mps amD QATréssoms

STETS

L & B GamrEE @)L
sLeuatseT

L ABCHTTEET

QuuisHEAw wrHHFF.H
e iy Qeissu Qewesar
QEQISHISH & MW 2 6irig uieh
QarhuLr Qsowe|ser
QupLiuLTg eu(hLOTEILD
engn g QUDHDH eu(HLOTELD

4
50,000

90,000

- 40,000
24,000
3,200
30,000
2,400
1,600
500

1.1:2014 31.12.2014

L4
3,10,000
84,000
52,000
30,000
2,800
32,000
3,200
1,800
600

Prepare a production budget for 3 months ending 31.3.2014 for a
factory producing 5 products, on the basis of the following

Type of Opening stock Budgeted Sales Desired closing
(Units) stock (Units)

information :
Products (Units)
A 5,000
B 6,000
C 10,000
D 1,000
E \ 2,000

20,000 4,000
25,000 6,000
50,000 11,000
10,000 1,000

5,000 " 5,000

Seraumd ssewsaldlnhg. e Camfpsrome o puss Qeiun 5
Qummeraensasrar 31.3.2014 - & apgeuen b 3 OTSHSEHESHTE

e Huss F L sams swrféseb.

Qur@mer euens  ppbu ETHEG S BlOuc @nssnse

ooy eflhLieen Bouy
: (Sogsd) | (d@sar) (Siev@aer)

A 5,000 20,000 4,000

B 6,000 25,000 6,000

C ~ 10,000 . 50,000 11,000

D 1,000 10,000 1,000

E 2,000 5,000 5,000
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18.

19.

From the following data,

“ (a) P/V Ratio.

(b) Variable Cost.
(¢) Profit.

Sales
Fixed expen'ses

Break even point

calculate :

80,000
15,000
50,000

Epsaramib sseuwsaNe BHS!

(=) omu Sjarey 6450
(=) wrmib Csae]

() orub dwebhemn sarssa)b

fpLienes
Hlenawwerr Qgawe]

sflew Lerafl

4
- 80,000

15,000
50,000

Calculate gross profit ratio from the following figures :

Sales

Sales returns
Opening stock
Purchases
Purchase returns

Closing stock

L4
10,00,000
1,00,000
2,00,000

6,00,000

1,560,000
65,000

Spsaramibd seainsaladmbg Awrss oru eldssmss srams

eAhuener

eflpLrienen Lt
< TbU Fr&dlmHLY
Qamerpse
Qarerapsed FHmrLib
Qudl srsdmUy

L4
10,00,000
1,00,000
2,00,000
6,00,000
1,560,000
65,000

60513/BYA5A

PART C — (8 x 10 = 30 marks)

Answer any THREE questions.

20. Distinguish between Management Accounting and Financial
Accounting. 7 ‘ oS

Guararemw samsdude wppib H sarsdulud CaupL s s.
21. Prepare a common size stgtementf from the foﬂowing balance

sheets :
Balance Sheet
Liabilities 2013 2014 Assets 2013 2014
L4 L4 L4 L4
Share capital 2,00,000 2,50,000 Fixed assets 1,00,000 1,20,000
Reserves 80,000 1,00,000 Investments 50,000 60,000
* Debentures 1,00,000 80,000 Stock 65,000 75,000
Creditors. 70,000 95,000 ‘Debtors 80,000 90,000
Bills payable 50,000 75,000 Bills receivable 95,000 1,05,000

Cash at bank  1,10,000 1,50,000
5,00,000 6,00,000 5,00,000 6,00,000
Epsaramid @@Ly Haows AL GEE Qurg e dMsmsamu

swimt Qauis
BoLy flaws Ghluy
Qurpiiyser 2013 2014 Clemsgsaer 2013 2014
4 L4 L4 L4
LRIG WSO 2,00,000 2,50,000 fHlenavwimen , 1,00,000 1,20,000
Qsngg&aer
STLILSET 80,000 1,00,000 qpsS@ser 50,000 60,000
sLaf_Guusdpd - 1,00,000 80,000 srsdmuy 65,000 75,000
SLeHCST 70,000 95,000 sLemelser 80,000 90,000
Qeaysgisn @M 50,000 75,000 QumsHEiu 95,000 1,05,000
o GRTIQU16) 2.6l Ig UI6)
cuiflulled o erér 1,10,000 1,50,000
. Qyrésib
5,00,000 6,00,000 5,00,000 6,00,000

22. From the following information, prepare a balance sheet :
(a) Working capital ¥75,000.
(b) Reserves and Surplus ¥ 1,00,000.
(¢) Bank overdraft ¥ 60,000.
(d Current ratio — 1.75.
(e) Liquid ratio - 1.15.
(f) Fixed assets to proprietor’s fund — 0.75.
€ Long-term debt — Nil. ‘ '
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